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’ 100kN/m#%#8 2% 1.00] 000 ~ 0.32 104.77|3m%E#Bz3| - ~ - - -| 100kN/M%#2 % 1.00] 12.21 ~ 13.21 104.77|3m%E#B 2% -~ - - -
ZThust 1.00]032 ~ 8.11 100.00] #hLlst [000 ~ 8.11| 250 12.62 Zzhst 1.00] 500 ~ 1221 100.00| #h st | 500 ~ 13.21] 250 12.62
) 100kN/m#%#8 2% 1.00] 000 ~ 1.09 116.40|3m%#Bz5| - ~ - - —| 100kN/M%#2 % 1.00| 1055 ~ 13.86 116.40|3m%E#Bx% -~ - - -
Zh s 1.001.09 ~ 887 100.00] #hList [000 ~ 887 2.22 11.22 Zh st 1.00|] 5.00 ~ 1055 100.00| #h st | 500 ~ 13.86| 2.22 11.22
3 100kN/m##8 2% 1.00] 000 ~ 2.06 131.85|3m%#Bx5| - ~ - - —| 100kN/M%#2% 1.00| 10.64 ~ 19.26 131.85|3m%#x% -~ - - -
Zh s 1.00] 206 ~ 9.84 100.00] #hList [ 000 ~ 984 2.30 11.62 Zh st 1.00| 500 ~ 10.64 100.00| #h st | 500 ~ 19.26| 2.30 11.62
4 100kN/m#%#8 2% 1.00] 000 ~ 292 146.38|3m%#Bz 5| - ~ - - —| 100kN/M%#2% 1.00| 10.56 ~ 24.81 146.38|3m%# x5 -~ - - -
Zh s 1.00] 2.92 ~ 10.71 100.00] #xLlst [ 000 ~ 10.71] 2.76 13.94 Zh st 1.00|] 5.00 ~ 1056 100.00| #h st | 500 ~ 2481| 2.76 13.94
5 100kN/m#%#82.% 1.00] 000 ~ 2.84 144.91|3m%#Bz3| - ~ - - —| 100kN/M%#2% 1.00| 1056 ~ 2554 144.91|3m%E#BZ% -~ - - -
Zh s 1.00] 2.84 ~ 10.62 100.00] #xLlst [ 000 ~ 10.62| 3.00 15.15 Zh st 1.00|] 5.00 ~ 1056 100.00| #h st | 500 ~ 2554| 3.00 15.15
6 100kN/m##8 2% 1.00] 000 ~ 1.1 116.79|3m%#Bz5| - ~ - - —| 100kN/M%#2% 1.00] 1295 ~ 17.22 116.79|3m%# 2z % -~ - - -
Zh s 1.00]1.11 ~ 890 100.00] #hList [ 000 ~ 890| 2.78 14.04 Zh st 1.00] 500 ~ 1295 100.00| #h st | 500 ~ 17.22| 2.78 14.04
; 100kN/m#%#8 2% 1.00]000 ~ 1.72 126.39|3m#%E#ZB| - ~ - - —| 100kN/M#Z# 2% 1.00| 11.30 ~ 17.46 126.39|3m%E#x% -~ - - -
Zh s 1.00]1.72 ~ 951 100.00] #hLlst [ 000 ~ 951| 2.60 13.15 Fh st 1.00] 5.00 ~ 11.30 100.00| #h st | 500 ~ 17.46| 2.60 13.15
g 100kN/m#%#8 2% 1.00] 000 ~ 151 122.97|3m%E#ZB| - ~ - - —| 100kN/M#Z# 2% 1.00/ 11.30 ~ 18.15 122.97|3m%E#BZ% -~ - - -
Zh s 1.00] 151 ~ 9.29 100.00] #hLlst [000 ~ 929 2.19 11.07 Zh st 1.00] 5.00 ~ 11.30 100.00| #h st | 500 ~ 18.15| 2.19 11.07
100kN/m%E#BZ % ~ ImEHEZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ zhst ~
100kN/m#E#BZ % ~ ImEHEZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ Zzh s ~
100kN/m%E#BZ % ~ ImEHEZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzhs ~ zhn s ~ zh st ~ zh s ~
100kN/m%#BZ % ~ 3ImEHEZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/m%Z#8Z% % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%E#BZ % ~ 3ImEHEZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/m%#BZ % ~ 3ImEHEZD ~ 100kN/m%Z#8 % % ~ ImEEZD ~
Zhst ~ Zh st ~ Zh st ~ Zhst ~
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